TEST YOURSELF 4
(UNITS 10 - 11 - 12)
I. Choose the word (A, Bf C or D) whose stress is different from the others.
	1.
	A. convenient
	B. machinery
	C. considerate
	D. disadvantage

	2.
	A. natural
	B. enormous
	C. efficient
	D. improvement

	3.
	A. brainstorm
	B. metro
	C. function
	D. perhaps

	4.
	A. solution
	B. prediction
	C. invention
	D. disappear

	5.
	A. worthwhile
	B. stressful
	C. support
	D. diverse

	6.
	A. skyscraper
	B. industry
	C. physician
	D. homelessness



II. Choose the correct intonation for each question.
1. A. Shall we go to the water park next week?	
B. Shall we go to the water park next week?	
2. A.	How much does the jacket cost?	
B. How much does the jacket cost?	
3. A.	Why did she fail the final exam?	
B. Why did she fail the final exam?	
4. A.	What time did you get up this morning?	
B. What time did you get up this morning?	
5.  A. Do you think we will use flying cars in the future? 
B. Do you think we will use flying cars in the future? 
6. A.	Has he finished his homework yet?	
B. Has he finished his homework yet?	
III. Choose the correct form of the words (A, B, C or D) to complete the sentences.
1. Smoke released from factories can affect the environment_______.
A. negative 	
B. negatively 	
C. negativity 	
D. negativism
2. Solar energy can be considered as one of the___energy resources.
A. inexhaustible        
B.exhaustible	
C. exhaustion	          
D. exhausted
3. She hopes she can ______ suddenly and reappear in another place immediately with a teleporter.
A. appear	
B.appearance	
C.disappearance	
D. disappear
4. They hope it will reduce_____and accidents through developing the safe driverless system in modern cars.
A. crashed	
B.crashing	
Ccrashes	
D. crash
5. It's difficult for him to look for convenient_____.
A. accommodating	
B.accommodation
C. accommodated	
D.accommodate
[bookmark: bookmark52]IV. Choose the best word or phrase (A, Bf C or D) to complete each sentence.
1. Wind power has	potentials to apply in agriculture and industry. It's unlimited to exploit.
A. convenient	
B.tiny	
C.enormous	
D. industrious
2. He should reduce his	of electricity to make a contribution to the protection of the environment.
A. exploitation	
B.production	
C.consumption	
D. introduction
3. They have found clean and safe energy to	machinery.
A. drive	
B.put	
C.provide	
D. consider
4. You can take control of the toy plane to fly back or______with a remote control.
A. into	
B.by	
C.on	
D. forward
5. Bicycle is one of the means of transport that are____. Using it will help lower exhaust fumes in the air.
A. unusual	
B.eco-friendly	
C.driverless	
D. inventive
6. He is a(n)	person, so he has an ability to choose a convenient flat near the centre of the city to live in.
A. reasonable	
B.suitable	
C.wealthy	
D. unfortunate
7. It is a(n)	house. Nobody has lived there for many years.
A. overcrowded	
B.deserted	
Cspacious	
D. luxurious
8. There are many beautiful places and ancient architectures in this place, so they can develop_____there.
A. industry            
 B. agriculture          
C. environment           
D. tourism
9. They_____the old machine system by another, better one this time next week.
A. will replace	
B. are going to replace
C. will be replacing	
d. replace
10. Their schedule_____tomorrow because they will discuss more to make it better until the next three days.
A. won't be passed	
B. will be passed
C. will pass	
D. is passed
11. My parents predict it_____them about five hours to return to their hometown by train.
A. takes	
B. is going to take
C. will take	
D. will be taken
12. These yellow books are	. I borrowed them from	yesterday.
A. Tom/him	
B.Tom's/his	
C.Tom/ his	
D.Tom's/him
13. There is	unemployment in this city than there used to be when they provide a lot of suitable jobs for the poor.
A. fewer	
B.more	
C.less	
D.many
14. She has waited for an hour to move in the heavy traffic jam,	_____?
A. didn't she	
B.hasn't she	
C.did she	
D.has she
15. Nam and Phong aren't going to the cinema this weekend,_____?
A. are they	
B.aren't they	
C.is he	
D.isn't he
VI. Choose the best response (A, B, C or D) to complete each conversation.
1. - What should we do to save water?
- _________________________
A. That's a great to use wind power to make electricity.
B. We should use biogas to heat water.
C. Nothing to say. We should reduce our carbon footprint.
D. In my opinion, we should replace the bath by the shower.
2. Why do you like using bicycles instead of cars?
- _________________________
A. Me too. I love using them because it helps me improve my health.
B. I prefer driverless cars than bicycles.
C. Well, it's very friendly to the environment.
D. No problem. I think it will protect the environment.
3.    - You're late again!
	- _____________________
A. Excuse me. I was lost and couldn't find the right way.
B. Sorry, I couldn't arrive soon because of the traffic jams.
C. Not at all. It's not my fault.
 (
The amount of vehicles on the street 1.
every day. Traffic congestion
 
is a problem in every major city in the world. Soon traditional means of daily
 
transportation such as cars and motorbikes, etc. won’t be able to 2.
 the
 
world population. 3.
there is no space left on the ground, flying car might
 
be the transportation of the future. Imagine your car can lift up into the air and fly
 
4.
congested road and reach your destination without 5.
about
 
traffic jam. Engineers in Silicon Valley,
 home of many famous technology 
companies, believe the first flying car can become a 
reality in the next decade. The 
technology is already available; the problem is how to produce a flying car that is
suitable for daily commercial use.
)D. Thanks. I promise I won't be late again.







[bookmark: bookmark53]VI. Read the passage and choose the correct answers (A, B, C or D) to fill in the blanks
1. A. is increasing	
B. was increasing
C. will be increasing
D. has increased
	2.
	A. reduce
	B. welcome
	C. achieve
	D. handle

	3.
	A. Though
	B. When
	C. Not only
	D. Unless

	4.
	A. under
	B. over
	C. toward
	D. around

	5.
	A. worry
	B. to worry
	C. worrying
	D. worried


VII. Read the passage and choose the correct answers.
Fossil fuel such as coal, oil and gas has been the world's main energy source for
the past few centuries. Humans began using fossil fuel in the 18th century during the
industrial revolution. Its popularity increased in the mid-1900s and became our
primary source of energy. Nowadays fossil fuel accounts for more than 80% of the
world's energy consumption. However, fossil fuel is running out not only because it’s
a non-renewable source of energy but also because of human population growth.
Scientists believe that at current rate we will only have enough fossil energy to use
until 2088. Many developed countries in the meantime have been investing in
scientific programs trying to find the best replacement for fossil fuels.
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1. What does the writer call fossil fuel in the passage?
A. Primary source of energy and non-renewable source of energy.
B. Primary source of energy, non-renewable source of energy and fossil energy.
C. Fossil energy and non-renewable source of energy.
D. None are correct.
2. How much fossil fuel do people in the world consume today?
A. All of fossil fuel in the world.
B. 80% of fossil fuel in the world.
C. 4/5 of the world's energy consumption.
D. 1/2 of the world's energy consumption.
3. Why does fossil fuel run out?
A. Because it cannot be renewed.
B. Because more and more people use it and it cannot be renewed.
C. Because more and more people use it.
D. Because some scientists said so.
4. What are many developed countries doing to solve the problem?
A. They are searching for a new source of energy.
B. They are predicting the amount of fossil fuels.
C. They are studying some ways to renew fossil fuels.
D. They are advising people not to use fossil fuels.
5. Which of the following is NOT discussed in the passage?
A. Fossil energy has been mainly used since the 18th century.
B. Fossil energy became popular in the mid-1900s.
C. Fossil fuel is believed to run out by 2088.
D. Fossil fuel can be replaced by another non-renewable source of energy.
[bookmark: bookmark54]VIII. Choose the underlined word or phrase (marked A, B, C or D) in each sentence that needs correcting.
1. Be extremely careful to use biogas or nuclear powers to produce energy.
A	B         C	D
2. It is said that the quality of atmosphere isn't good for smoke and gases from
ABC
lots of vehicles.
D
3. They lack good physics to cure dangerous diseases in the area.
  A           B	C                 D
4. Perhaps she won't be driven to visit her friend this time next week because of
A	B	C
the prediction of the bad weather.
D
5. The black toy car is my, and the white one is hers.
   A	    B	C        D
6. They have built a new road in her hometown recently, so there are more
A	B	C
difficulties to travel than there used to be.
D
7. She understands the reason for the foundation of the club, didn't she?
                    A	                   B	                C                                       D
